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ECONOMICS SSCHIi
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use iead pencll.

Q.1

Circle the correct option l.e. A/ B/ C / D. Each part carries one mark.

(i)
(ii)

(iii)

(iv)

v)

(vi)

(vii)
(viii)

(ix)

(x)

(i}

(i}

(xiif)

(xiv)

(xv)

Pakistan got miner industries at the time of independence.

A 34 B. 64 C. 80 D. 134

Pakistani currency was issued first time in:

A October 1948 B. August 1948 C. May 1948 D. December 1848

Net National Income

=7
Population of thecountry
A Personal income B. individual income
C. Per-capita income D. All of these
Evolution of money was due to the need of:
A Investment B. Savings C. Credit D. Medium of exchange
if somecne refuses to accept a coin in transaction, it lacks the characteristic of:
A Store of value B. General Acceptability
C. Medium of exchange D. Unit of Account
Token money means:
A Face value of the coin is more than its metal value
B. Face value of the coin is less than its metal value
C. Face value of the coin is equal to its meta! value

D. None of these
A cheque is basically an / a by the depositor to a bank.

A Order B. Request C. Bil} D. Receipt
Bank of England started lawful banking in:

A 1694 AD B. 1876 AD C. 1794 AD D. 1947 AD
Which bank is the banker to the state?

A State bank B. Bank of England

C. Central bank : 0. Commercial bank

Which type of account allows to withdraw any amount of money without any prior notice to bank by
its depositor?

A Fixed account B. Current account

C. Saving account D. PLS account

Industrial bank is a kind of:

A Commercial bank B. Central bank

C. Specialized bank D. None of these

The exchange of commodities between countries is called:

A Domestic Trade B. inland Trade

C. intemnational Trade D. National Trade

The problem of arises because of the difference in value of currencies of
different countries.

A Exchange rate B. Purchasing power

C. Payment D. Transfer of money

Mechanicai goods are included in:

A Consumer goods B. Exports

C. Capital goods D. Raw material

Surgical instruments are produced in:

A Sialkot B. Karachl C. Wazirabad D. Gujrat
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ECONOMICS SSC-II {5

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet Le. Sheet-B if required.
Write your answers neatly and legibly.

Q.2 Answer any TWELVE parts. The answer to sach part should not exceed 3 to 4 lines. (12x 3=36)
(i Write any three steps taken by govemments to improve agriculture sector in Pakistan.
(1) What do you know about the problem of “lack of double coincidence of wants" under barter system?
(i)  Differentiate between “standard coin” and “token coin”.
(iv) Define a commercial bank.
(V) What do you mean by discounting of bilis of exchange?
(vi) How does a Morigage bank work?
(vii)  Write any three disadvantages of foreign trade.
(viii)  Differentiate between public finance and private finance.
(ix) What is sales tax?
() What do you mean by productive debt?
{xi) Write any three clauses of 1972 land reforms of Pakistan.
(xii)  What do you know about state land tenure system?
(xiii)  Write a few lines about “Industrial Research Center”.
(xiv)  Write any three rules for the liability of Zakat.
(xv)  Write any three conditions for the payment of Usher.
(xvi) What is fixed account?
(xvii) How does the problem of exchange rate arise in foreign trade?
(xviii) What is credit money?
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)
Q.3  What were the causes of industrial backwardness of Pakistan? What steps were take‘n by g:’overnment to
improve this sector? |
Q.4 What do you mean by barter system? Explain its difficuities in detail.
Q.5 Explain the sources of public revenue in detait.

Q.6 Whatis “Profit and Loss Sharing” account? Explain its concept and describe the steps taken for its application in
Pakistan.
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